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EXAMPLE £

2005 Earthquakes
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123 4567

Magnitude on
Richter scale

2008 Earthquakes

123 45867

Magnitude &r\/\J
Richter scale M@B{ Richter scale

Lomparing aata using nistograms

2006 Earthquakes

1 —!_
123 4567

Magnitude on
Richter scale

2009 Earthquakes

12 3 4 i(é\r?\-/
Magnitude

The magnitude of an earthquake is measured using the Richter scale.

Examine the histograms for the frequency of earthquake magnitudes in
Canada from 2005 to 2009. Which of these years could have had the most
damage from earthquakes?

2007 Earthquakes
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Magnitude on
Richter scale

National Research Council Canada
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Both 2008 and 2009 had the strongest earthquakes, /i <.
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Player Field Goal Percent in Last 10 Basketball Games

Anna 36 (41 |43 |39 |45 |27 |40 |37 |31 28
Patrice 36 39 36 38 35 37 35 36 38 34
Morgan | 34 | 41 38 |37 |48 |19 |33 [43 |21 |44

Paige 34 |35 [33 [35 |33 [34 |33 |35 [34 |33 6{¢ 7
Star 41 |33 [39 |36 |38 |36 |29 |34 [38 |39 '

@ How can the coach use the data to determine which
player should be substituted into the game?

A.  Which player seems to be the most consistent shooter?

Explain.

B. Analyze the data for Paige using a table like the one shown on the
next page. Determine the mean of the dara, x, for Paige, and record
this value in the first column.
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the mass measurements giVEl] on two cartons thar conrained sunflower seeds.

| (%] Tools ' Fill &sig

Comment

He decided to measure the masses of the 20 bags in the two cartons. One

carton contained 227 g bags, and the other carton contained 454 g bags.

Masses of 227 g Bags (g) Masses of 454 g Bags (g)
228 220 233 227 458 445 457 458
230 227 221 229 452 457 445 452
224 235 224 231 463 455 451 460
226 232 218 218 455 453 456 459
229 232 236 223 451 455 456 450
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measurement is the same for both bag sizes?

228 Chapter 5 Statistical Reasoning

How can measures of dispersion be used to determine if the accuracy of
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